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1. (a) Whatis meant by Cost Accounting ? Discuss the Limitations of Cost Accounting. 7

(b)

(c)

(1)
2)
3)
4)

OR

- Write short note on : (any two)

Fixed Expenses and Variable Expense.
Characteristics of an Ideal Cost Method.
Unit Cost Method

Historical costs

Give the proper method of Costing of the following industries.

(1)
(2)
3)

4).

()
(6)

Oil Refinery
Printing Preés
Electricity Industry
Chemical Industry
Computer Industry

Building Industry

2. (a) Whatis Perpetual Inventory ? State its advantages.

NJ-130

OR

- What is meant by Uniform Costing ? Discuss the objectives of Uniform Costing.
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Calculate :

(i) Ordering level
(i) Minimum level
(ili) Maximum level

(iv) Economic Ordering Quantity from the following :

(1) Annual Consumption 8000 units

(2) Cost of placing an order X 20

(3) Carriage Expense (yearly) perunit X 50 |

(4) Re-ordering time . 4to 6 weeks

(5) Weekly average consumption 250 units

(6) Weekly minimum consumption 125 units
(b) Write Short note : Just In Time Approach.

OR

The following is a summary of receipts and issues of Material 1n a factory :
Receipts : |

8-12-2014 200 units at T 2.10 pér unit

18-12-2014 250 units at T 2.20 per unit

25-12-2014 300 units at ¥ 2.50 per unit

Issués : ‘

22-12-2014 250units

29-12-2014 450 units

Prepare stock register showing price of material issued as per Weighted Average
Method.

(¢) Write Short note on : Stores Ledger.
OR
The following information is available in respect of a Material for the year, 2014.
Calculate : |
(1)« Value of material consumed
(2) Value of average stock

(3) Material Turnover ratio

Particulars 4
Opening Stock 15,000
Purchases ) 1.3 0,000
Closing Stock | 25,000

NJ-130 8



(b)

NJ-130

(a) Write short notes on : (any two)

(1) Piece Wage System

(2) Halsey Plan

(3) Rowan Plan

(4) Labour turnover
OR

From the following information, find out the Labour Turnover Rate on the basis

of :

(1) Separation method

(2) Replacemenf method

(3) Flux (composite) method
Number of workers at the beginning of the year! 560
Number of workers at the end of the year 640
Number of workers who left during the year 72
Number of workers newly recruited in-place

of workers who left during the year 60

From the following sdforniation of Harvish Ltd., find out Net Wages payable in

cash for May, 2015 : 4
(1) Salary per month | T 1,20,000

(2) Dearness Allnwaﬁce 100% of salary

(3) Leave Salary I 10% of salary

(4) Total Amount deposited in Provident fund T 12,000

(5)" Total amount deposited in E.S.LS. ¥ Ysoh

" Employer’s contribution to provident fund is at equal rate with employee’s

contribution, while ratio of employer’s and employee’s share into the contribution
to Employee’s State Insurance Scheme 1821,

OR
Write short note on : Profit Sharing.

9 PiTiOl



(¢) During the first week of April, 2015, Mr. Harshad manufactures 600 articles. He
receives wages for the guaranted 48 hours week at the rate of ¥ 4 per hour, the
estimated time to produce one article is 10 minutes and under incentive scheme
the time allowed is increased by 20%.

Calculate his gross wages according to

(1) Halsey Plan _ :

(2) Rowan Plan 3
OR

Write short note on: Incentive wage system.

4. In a factory, there are three production departments A, B and C and two service
department D and E. The details of the expenses, during March, 2015 are as under : [

Particulars 4
Indirect Wages 6,500
Insurance | 16,500
Canteen eipenses 30,000
Lighting 10,000
Rent & Taxes 25,000
Contribution to ESI 3,250
Depreciation 82,500
Power I 45,000 ‘ |
Factory manager’s salary - 90,000
bthe‘r Information : B )

Production Service
Particulars Departments Departments
&% 1 B2 g 3.1 ® |

Lighting Peifts | 6 5 4 | 3 >
Direct Wages (%) 22,500 | 20,000 | 14,500 | 6,000 | 2,000
Gost of Machine }) | 3,60,000 | 2,40,000 | 1,80,000 | 6,000 | 6,000
Horse power of machine 4 6 2 - ~
Space occupied (sq. feet) 600 400 | 500 300 | 200
Proportion of time devoted |
by factory manager 5 4 3 2 I
Number of workers 5 6 l 4 3 2
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The benefit of service department D and E is derived by the other departments in the

following proportions :
Particulars A B C D E
Department D | 20% | 30% | 40% | — | 10%

Department E | 30% 40% | 30% | - -

Prepare as statement showing :

(1) Distribution of overheads to ﬁariﬂus department and

(2) Distribution of expenses of service departments to production departments.

OR
Calculate mﬁchine hour rate from the following information.
Price of Machine - %..5,00,000
Installation Charges < 50,000
 Useful life of machine 10 years
The annual working hours of machine _ 1,000

Details of expenses of machine :

Power T 25,000
Rent & Taxes X 4,800
Repairing 3 12,0'50
Factory electricity X 2,200
(Out of 100 points this machine uses 10 points)

Other allotted expenses X  4,000.

5.  Select appropriate alternative for the following questions (show necessary calculation /

reason) (any seven) : _ 14
(1) The cost unit of Cement industry : ' '
(a) Litre (b) . Ton Kilometre

(¢) Kilowatt (d) Ton/Bag
(2) - What it is called when variable and fixed cost is included ?

(a) Standard Costing (b) Marginal Costing

(¢) Absorption Costing (d) Historical Costing
(3) Ordering level — Average Consumption of Average Delivery Time

(a) Maximum Level (b) Minimum Level

(c) Ordering Level - (d) Average Level
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- (9)

(6)

(7)

(8)

(9)

(10)

“Average consumption” X “Time period for emergency purchase” =
(a) Danger Level (b) Minimum Level
(c) _Ordering Level (d) Maximum Level

In which method stock consist of first purchase ?

(a) LIFO method

(b) FIFO method

(c) Weighted Average method
(d) Standard Price method

Which wages system is proper where speed of the work depends on machine, not

on man ?
(a) Times wages system (b) Piece wages system

(c) Halsey wage system (d) Co-Partnership

Dhruvin completes a work in 8 hours instead of 10 hours. Labour rate per hour is
< 5. What he will earn as per Rowan Plan ?

(a) T48 (b) T 40
(¢) C350 (d) X 45

Which method is also a repeated distributinn method ?
(a) Average method | (b) Trial & Error method
(¢) Indirect method | (d) Graphic Presentation method

If prime costis ¥ 25,000 and Factory overheads are ¥ 5,000 then what will be
percentage of factory overheads on prime cost ?

(8) 25% (b) 20%
() 30% d) 15%

Basis of apportionment for Indirect labour is
(a) Labour hour rate (b) Direct labour ratio

(¢) No. of workers ratio (d) As per machine hour rate
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